Chapter 3 Prerequisite Skills

1. Perform the indicated operations. Siumplify
each answer.

a) T —3x+x—x
b)y(dx—-3x+7)

o) (2x-5)°
d)(x—17-2x+3)(x—4)

2. Use the graph to help answer the following
questions.
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a) What is the value of the y-intercept?

b) What 1s the slope of the line?

¢) What 1s the equation of the line using the
form y =mx + b?

d) What 1s the range of the linear function
shown on the graph?

e) What 1s the x-mtercept?

3.

6.

a)y=—-5x+2

Ifm= —E_ and (1, 4) 1s a point on the line,
5

what are the coordinates of another pomt on
the line that 1s 1n the fourth quadrant?

. Determune the equation of a line that

satisfies the following conditions. Leave
each answer in the form Ax+ By + C=0

a) The line has a slope of —% and a

v-intercept of 2.
) The line passes through the poimnts (-1, 0)
and (2, —6).

Write each equation in the form y=mx + b
Give the value of the slope and y-intercept.
a)3x+y—-4=0
c)3x—4y=0

b)3x—Ty=1

For each equation, write 1t 1n the form
Ax+ By + C=0, where 4, B, and C are
mtegers. Give the values of 4, B, and C.

2x

by y=— -7
). 3

c)-1=4y- E:r:
T4

Chapter 8 Prerequisite Skills

1. What are the slope and y-intercept of
each line?

a) yv=—3x+4

c) Ix—-2y=7

2.

Write the equation of each line. using the
given information.

a) passing through (—3. 1) with slope.

m=-2

b) passing through (3 — 4) and perpendicular

3 -
to y=—x—7

-




Foundations 11: Pre-rec skills unit 1- systems of inequalities

ELM 3-2 Chapter 3 Prerequisite Skills

1.a) 8x" —4x b) 4x” + 25x—21
€) 4x" —20x + 25 d) —x" + 3x+ 13
3 3
2.a)-3 bym 5 c)) EI 3
d) all real numbers or {y |v €R} ¢)2
3. Example: (14. -1.2), (19, -3.2)
4.a)3x+4-8=0Db)2x+y+2=0
S.a)v=-3x+4; m=-3; yantercept = 4

3 01 3 1

b)y= —x—=.m= = y-mtercept= ——

)3 7 7 77" P 7

3 3.
C)y=—1x.m= — . y-interce Tzﬂ
)y r i p

6.a)Sx+y-2=0;4=58B=1,C==2

b)-2x+3y+21=0:4=-2.B=3.C=
6.

¢)3x—-16y—-4=0.4=3, B=-1

ANSWERS
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BLM 8-2 Chapter 8 Prerequisite Skills

1. i == 3, -1 t= 4 - |
a) m y-intercep 6.a)(3.8) b) [é —%} ¢)(6.5.435) dy(l1.5 -1)

b) m= % y-intercept = —%

o =§_‘F_mtmm=_g 7.2) (4.-13) b)(1.5.0) ) (%%} d) (=5, 2)
d) m=—1.8, y-intercept = 2.1

.a)yv=-2x-5 b) J*=—§x—2

a)x+yv=T752 b)a+c=256

x—y=174 Sa+3¢c=767
c)g+1=173 d)75+15m=C

0.25q +1=37 35m=C

4. a) None. The lines have the same slope. but
different y-intercepts. so the lines are parallel.
b) Infinite. The equations are multiples of each other.
so the lines are congruent.
¢) Infinite. The equations are multiples of each other,
s0 the lines are congruent.
d) One. These are linear equations with different
slopes and y-intercepts, so the lines intersect.

5.2) (-3.5.1.0) ¢) (8.8. -3.5)
' ™ ' ™

Inkerseckion Inkerseckion

n="z.5k T=1 n=H.7H04B7H Y=-Z.4BFHOE
\ J \
b) (8.0, 7.0) .
- ~ d) (—21.3,16.5)

' ™

%EE'E-H““M' yop ———— Inkerseckian
=R - J | H="zLzE “Y¥=zi6.5 .




